Occurs in this part of the cell
In the presence of 
Aerobic Respiration
This product is used to start  the next step
WORD BANK: 
Krebs Cycle			     2
Electron Transport Chain	     2
Glycolysis			    36
Oxygen				Glucose
Oxygen				Pyruvate
Oxygen			           Lactic Acid
Mitochondria		            Cytoplasm
2  _______________ 
Fermentation produces
In the absence of
_____________ ATP
_____________ ATP
_____________ ATP
Produces
Produces 
This is the next step
Anaerobic Respiration
This is the next step
Requires none 
Produces a net  gain of:
Occurs in this part of the cell
This is broken down in this process
Starts with this product of Photosynthesis
Cellular Respiration

